£KO INBYEISE

Silicon Pyranometer

TG4V IRI—bMHAF

ick Start Guide

ML-O1

COEIIHEALBHED ST ESKOWEEHIAEITENET,
Thank you for purchasing EKO products.

COHARIIHECKRE, CERVELODHIRTT,
FHIIEIREREAE E S FHH N lEE  IELKBELKESL ),
This sheet provides the basic instructions for setup.
See the included manual for further detailed
information about this product.

ML-01Z4& Sensor

{REEICDWT Product Warranty
AEBOEERIMEASLORILREICOEX
LT ARRBICHREN TV I HRAIE 228,
FloIBEELBEETHBNEDOETEEL,

For warranty terms and conditions, please contact
EKO Instruments or your distributor for further

details. The warranty is only subjected to the
KERBAMNE (FT2aY) instrument which is installed and used in correct
With Leveling Plate (Option) manner. EKO will not be reliable for any loss or

damage caused from improper installation or use.

| [l SRR rackage Conter

FIEUHICMEBABECHERIS ), TR FIFTHWIENH 2B A,

EBICTEK T,

First, please check the package contents. If any part is missing or damaged,

please contact EKO.

INSBSEAE (BT E)

Silicon Pyranometer (with Signal Cable)

rrrrrrrrrrrrrrrrrrrrr FTvav  Option -y
KEFAEE  Leveling plate

JKFRERY  Leveling Screws (M5) x 3

HEIEEUE RS Sensor Mounting Screws

(M2) x 6 (55F1{%3 Spare Screws 3)
ftRILE Bolts (M6) x2

Jw¥— Washers (M6) x4

Fwk  Nuts (M6) x2

RIEEEBAZ  Calibration Certificate

fREEE  Warranty (only in Japan)

DAY RI—HAR (£%) Quick Start Guide

BN ER BB EIZEKOR—AR—V LDF D O0—-FLT
<fEEby,

Instruction Manual can be downloaded from EKO
website.

SREDHE(F Preparation to Install

P

1 CHBWEELH®D Required Tools

P —m >—C (})

LoF +ES4/1— (#0) 215 (10mm) Papit el
Wrench (M2 H) Spanner Compass
Phillips screwdriver
for M2 Screw

N\~ KEAELSEFEHALANEE Installing without Leveling Plate
TAY— (BE.EAE) REART(M2)3ME
Multimeter M2 Screws x3
(Voltage, Resistance) o BEAREG 3-4mm  AVRLEEAmmlE0ENE
Length: Installation base thickness BETEZEA.
t + 3~4mm ML-01 will not properly fasten on

installation base if screws are
longer than [t+4mm].

2 ERIBISFR - RIFDHEER Location & Setup Conditions

N =7

M, L
o

® J/BZAN S
¥ EDBEIL
T ELR.
BIHOBAE
EAICHITTHRE
LEY,

Place the
pyranometer with

[ —EEEQT\K%Eéi%’Zz%Eab\’ ¥
BRSNS EEATTIESL, the Cable facing the P
Select a location with free horizon. nearest pole. Cable

o RERBEEN

Fixing Holes on Installation Base (¢5mm)

KERBAEFERATHE KEREAEEBLANES
Mounting with Leveling Plate Mounting without Leveling Plate
EIE 7 &
Fixing Hole Pitch
50
bl i S|
N/S Pole N/S Pole

- BER 2R —

— BERIN

Fixing Hole x2 Fixing Hole x3

6.5 (M6 Bolts) AR 3-M2 RES
‘ 3-M2 Depth 5
(mm) ‘ (mm)

$22

28.5

® BT Weight:

NN
Body : 30g

~10]

33.5
[
— e —-

(mm) (mm)

REHKERES
Body + Leveling Plate : 75g



EZ1E Installation

Place the ML-01 on installation

—d

7qu§a§ﬁ (2‘7937)&“ D{qu’* 3' 2 7K$Eabﬂ§§' gggg;ﬁ%%’gt%ﬁ?ﬁ Installing in Horizontal Position:

Attaching leveling plate (optional) Level the pyranometer. EaDtEd, base and adjust the level.
KEBEAEFERT BIH5EMH Only when mounting with Leveling Plate EMECHBY 354:

FOKFRZEDEICE

BUKEEEDEET,

KFRERS

Leveling Screws

4 HAOAEEERRBLET

Checking the Output Voltage

HAT—TID+/-EFAI—1E
/-74 DEEREB/ICOBNTHANE

M L<HTW B ERERL TS,

After connecting the pyranometer
and output cable, use voltmeter to
check for output.

Spirit Level

EEE M2%3 M2 Screws

BELZDOHAME Approximate Output Values

3 W:’b hnl;* :J“E E lJ * 3- BEABOUV/W 204 When Sensitivity is 50uV/W-m—2
Fasten the pyranometer on installation base with bolts / screws. ES 20 B 2D Bh
. = Sky Conditi O t Partly Cloud cl
KPR A KEBEAEL X y Condi |oh vercas artly Cloudy ear
With Leveling Plate Without Leveling Plate HE58E  Solar Irradiance [w/m?2] <300 >300 > 700
Ty — ¥ HE13MH A Output Voltage [mv] <15 >15 >35
Washers —
: .E.IE/\ BEEHNSHANE GE: When there is no Output:

AR L Fixing Holes HAT =TI (+/-) B OB (LR ) Measure the impedance of the output cable
Bolts $2.5mm £, 43~53QDBEAN THBNHE  (+/-) and check if the impedance is in the
. (M2 Bolts) RBLTEE), (BT REMDBE) range between 43~53Q.(When standard

.E/\ EENGENDBEIIHABIEET cable length 5m) Please contact EKO if the

Fixing Holes HENAETEEL, impedance is out of this range.

d7mm Pi
(M6 Bolts) %E_{i\ 5’2‘1,{5 Eﬁ’é b*?
‘ Installation Base / ‘ Installation Base / Wiring F OB E A
] i ] s Connect to Measuring Instrument
Oy @ © 11 iR/ B EEHT o
Washers . EIET\WE REEM2RX Y TEELET Orange Wire/Blue Terminal & »
>k Fixing Hole Pitch Fasten the pyranometer on installation base B/ REB T
Nuts 50mm with M2 screws. White Wire/Red Terminal
5 6
iE  Measurement & Maintenance
LYY Measurement Range B#RIE Recalibration
OA—72EDEERRIT. FROBABENAETEIL Y IVEBRLTESL,
Set measurement range on the measuring instrument according to the below output range. BFIC-EOBREESEOLEY, BRIEOTKIEIIFABEEITEEILET.
It is recommended to recalibrate once every 2 years. Please contact EKO for recalibration
service.
HAEEEE  OutputRange [mV] : 0~ 100 v

BEl@EDRDF Calculate Solar Irradiance EKO Eanmmi et

I _ Ewwv X www.eko.co.jp
Y ——— T151-0072 RRHLAREsA1-21-8
TEL 03-3469-6714 FAX 03-3469-6719
I: BEaE Solar Irradiance [W/m?] HRIR—BR—ttz>5—
E: BSIEtHAAEE  Pyranometer Output Voltage [wV] TEL 03-3469-5908  FAX 03-3469-5897
S: REEH Sensitivity [LV/W-m™2] B PE = 3P www.eko.co.jp

532-0012 KB/ XAIH3-1-31
TEL 06-6307-3830  FAX 06-6307-3860

TBHMHW A>T F VR Periodic Maintenance

FXO EKO INSTRUMENTS co., LTD.
FZHER (LBIR) : IEBUIRDIBNEZSN R TRERD

TLIES WV IEBURS KUZ D EDERIC, BN ENEL Head Office www.eko.co.jp
TR ERBL TR, 1-21-8 Hatagaya, Shibuya-ku, Tokyo 151-0072 Japan
Diffuser: Keep the diffuser clean by wiping it with a TEL +81(3)3469-6713 FAX +81(3)3469-6719

soft cloth. Check for cracks and scratches on the

diffuser and the rim. EKO INSTRUMENTS Europe B.V.  www.eko-eu.com

Lulofsstraat 55, Unit 32, 2521 AL Den Haag, The Netherlands

T—TIVREE: BERER U — 7 LA A T TEL +31 (0)70 3050117 FAX +31 (0)70 3840607
DEHERBL TTEEL, EKO INSTRUMENTS USA INC. www.eko-usa.com
Cable Condition: Check and make sure the cable is 95 South Market Street, Suite 300 San Jose, CA 95113 USA
attached securely and not damaged. TEL +1408-977-7751 FAX +1 408-977-7741
TKHERR: IKHEBREHERL COKEN TN TS, FHE © EKO INSTRUMENTS co., LTD.

LTt o

Spirit Level: Check if the bubble is within the center @99901 @14901 c E ML-01QSG20130926V1

ring. Readjust if necessary.




